Deviation [sigma] Deviation [sigmal] Flux [10° erg/s/cm’]
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; Grey line: exponential fit ;
B Black line: power law + gauss fit B
N Dashed line: power law i
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; Exponential fit é
= Expon.time: 11.51+/- 0.62 s (chi*red= 7.50) =
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; Power law fit é
= Power law index: -1.407+/-0.071 (chi*-red= 4.17) 3
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—  Power law fit plus Gaussian (st.dev.= 17.98+/- 1.52s, fracgs= 0.38+/- 0.03) =
- Power law index: -6.055+/-1.327 (chi*-red= 2.60) -
E by, A L ] ——t -
- *Wﬂﬁ | n ++ —+—f + \ \ 1 =
= f =
E | I | I | I | I | | I E

0 50 100 150 200 250 30

0



